ALGEBRA EXAM 1.2
Solve the equations in questions 1-5.

1.
6x + 3x + 9 = 21
                                7








(2 points)


2.
14 – 6y + 4y = 32







(2 points)
          



3.
2(h – 8) – h = h – 16 







(2 points)

4.
-¼(8 – 16a) + 6a = 38







(2 points)

5.
1 = 5x+ 3 x








(2 points)
8    4    16










____
6.
The equation [image: image1.png]


 gives the area A of a circle with radius r. Solve the function for radius.
(2 points)
Solve the inequalities in questions 7-8, and then graph your solution.


7.

5|8 – y| + 2 > 32










(3 points)
8.
     |d + ⅔| – ¾ ≤ 0









(3 points)
9.
Which of the following relations is a function? 





(1 point)
	
	A.
	(1, 4), (-1, 2), (6, 1), (-8, 2)


	
	B.
	(1, 4), (-1, 6), (1, 3), (-8, 2)


	
	C.
	(6, 1), (-1, 4), (1, 1), (6, 2)


	
	D.
	(1, 0), (-1, 3), (6, 1), (-1, 5)


10.
Which of the following represents a relation and not a function? 



(1 point)
	
	A.
	x
-9

-5

-1

2

y
25

23

31

25




	
	B.
	x
-9

-5

-9

2

y
25

23

31

25




	
	C.
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	D.
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11.
Tell whether each graph represents a function.




(2 points)




A.



B.


[image: image2.png]


[image: image3.png]






C.



D.


[image: image4.png]


[image: image5.png]



____
12.
Which characteristics best describe the graph?





(1 point)
[image: image6.png]



A.
is a function, is non-linear

B.
is a function, is linear

C.
is a function, is a linear absolute value function
D.
is not a function
13.
Find the value of f(-3) for the function f(x) = 306 – 2∙4x


(1 point)

14.
(a)
Write a suitable conclusion for the following argument: 





All dogs have their day.

                
   


Lassie is a dog.

                



Conclusion:  ____________________________


(1 point)
      (b)
What kind of reasoning allowed you to make the above conclusion?
(1 point)
15.
Make up an original example of an argument that uses inductive reasoning. 
(2 points)

16.
For each sequence, determine the type of sequence, write a function rule, then determine the 15th term in the sequence.








(6 points)
a.
5, 10, 20, 40, 80, 160




b.
7, 3, 5, 2, 3, 1, 1
             2      2      2      2

17.
You budget $100 for parking each month. Each day you use the downtown parking lot, it costs you $5. Write a rule to represent the amount of money left in your monthly budget as an arithmetic sequence. How much money is left in your budget after you have used the downtown parking lot 11 times this month? (2 points)

18.
Consider the sequence shown.  Draw the next two figures of the pattern.

(2 points)

[image: image7.png]



For questions 19, (a) state the common difference, then (b) find the next term.


19.
a + b + c, 4a + 3b + c, 7a + 5b + c,…





(2 points)

20.
A story is often told about how the great mathematician Carl Friedrich Gauss (1777-

1855) at a very young age was told by his teacher to find the sum of the first 100 counting numbers.  While his classmates toiled at the problem, Carl simply wrote down a single number and handed it in to his teacher.  His answer was correct.  When asked how he did it, the young Carl explained that he observed that there were 50 pairs of numbers that each added up to 101!
                                  [image: image8.png]1+2+3+..+98+99+100
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So the sum of the numbers must be 50 × 101 = 5050
Use the method of Gauss to find the following sum:

1 + 2 + 3 + … + 200





(2 points)
____
21.
Carlos walked from his house to school. He was at school for several hours. Then on his way home, Carlos walked to the library. He was at the library for an hour. Then he walked back to his house. Sketch a graph to describe the situation.  Be sure to label your axis. 



(3 points)

22.
Graph the following functions:

a.
[image: image9.png]










(5 points)
b.
f(x) = -x2 – 4







(5 points)

23.
Malik received a $300 gift card from his grandparents and is using it only to pay for his karate lessons, which cost $28 per month.

a.
Write a function that describes the dollar amount of money d, on the card after t months.

b.
Graph the function that you wrote in part (a).

c.
Malik decides he wants to use the last of the gift card to buy some karate equipment that will cost $75.  Determine exactly when there will be $75 remaining on the card.










(7 points)
jkgh

Answer Section

1.
ANS:


The independent quantity is the number of cars washed. The dependent quantity is the time it takes to wash the cars.
PTS:
1
REF:
1.1
NAT:
N.Q.2 | F.LE.1.b


TOP:
Pre Test
KEY:
dependent quantity | independent quantity


2.
ANS:


The independent quantity is the time in minutes. The dependent quantity is the distance, in miles, that David is away from home.
PTS:
1
REF:
1.1
NAT:
N.Q.2 | F.LE.1.b


TOP:
Pre Test
KEY:
dependent quantity | independent quantity


3.
ANS:


[image: image10.png]Sx+20-8=x+32
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PTS:
1
REF:
2.1


NAT:
A.REI.1 | A.REI.3 | A.REI.10 | A.CED.1 | A.CED.2 | N.Q.1 | A.SSE.1.a | F.IF.2 | F.IF.6

TOP:
Pre Test
KEY:
first differences | solution | point of intersection

4.
ANS:


[image: image11.png]



[image: image12.png]



PTS:
1
REF:
2.3


NAT:
A.CED.1 | A.CED.2 | A.CED.3 | A.REI.3 | A.REI.10 | N.Q.3


TOP:
Pre Test
KEY:
solve an inequality


5.
ANS:


[image: image13.png](2x-5)=7
x-5=7





[image: image14.png]~(2x-5)=7
2x-5=-17
2x=-2




PTS:
1
REF:
2.5
NAT:
A.CED.1 | A.CED.2 | A.CED.3 | A.REI.3 | A.REI.10

TOP:
Pre Test


KEY:
opposites | absolute value | absolute value equation | absolute value inequality | equivalent compound inequality

6.
ANS:


a.
absolute maximum

b.
none

c.
absolute minimum

d.
none
PTS:
1
REF:
1.3
NAT:
F.IF.5 | F.IF.9 | A.REI.10 | F.IF.1 | F.IF.2 | F.IF.7.a

TOP:
Pre Test


KEY:
function notation | increasing function | decreasing function | constant function | function family | linear functions | exponential functions | absolute minimum | absolute maximum | quadratic functions | linear absolute value functions | linear piecewise functions

7.
ANS:


[image: image15.png]sla o




PTS:
1
REF:
3.3
NAT:
A.CED.2 | A.CED.4 | A.REI.1

TOP:
Pre Test
KEY:
literal equation


8.
ANS:


a.
Each figure has 1 more row of dots at the bottom. That row has one more dot than the bottom row in the previous figure.

b.


[image: image16.png]



c.
3, 6, 10, 15, 21
PTS:
1
REF:
4.1
NAT:
F.LE.1.b | F.LE.1.c | F.LE.2

TOP:
Pre Test
KEY:
sequence | term of a sequence | infinite sequence | finite sequence

9.
ANS:


a.
[image: image17.png]2, =527
31920





b.
[image: image18.png]



PTS:
1
REF:
4.3


NAT:
F.BF.1.a | F.BF.2 | A.SSE.1.a | F.LE.1.b | F.LE.1.c | F.LE.2



TOP:
Pre Test
KEY:
index | explicit formula | recursive formula


10.
ANS:


a.
function

b.
function

c.
not a function

d.
function
PTS:
1
REF:
1.2
NAT:
F.IF.1 | F.IF.5



TOP:
End Ch Test


KEY:
relation | domain | range | function | Vertical Line Test | discrete graph | continuous graph

11.
ANS:


a.
linear absolute value function

b.
linear function

c.
quadratic function

d.
exponential function
PTS:
1
REF:
1.3
NAT:
F.IF.5 | F.IF.9 | A.REI.10 | F.IF.1 | F.IF.2 | F.IF.7.a

TOP:
End Ch Test


KEY:
function notation | increasing function | decreasing function | constant function | function family | linear functions | exponential functions | absolute minimum | absolute maximum | quadratic functions | linear absolute value functions | linear piecewise functions

12.
ANS:
C
PTS:
1
REF:
1.4


NAT:
F.IF.1 | F.IF.4 | F.IF.7.a | F.IF.9 | F.LE.1.b | F.LE.2 | A.CED.2


TOP:
Standardized Test


13.
ANS:
C
PTS:
1
REF:
1.1
NAT:
N.Q.2 | F.LE.1.b

TOP:
Standardized Test

KEY:
dependent quantity | independent quantity

14.
ANS:
B
PTS:
1
REF:
3.3
NAT:
A.CED.2 | A.CED.4 | A.REI.1

TOP:
Standardized Test

KEY:
literal equation


15.
ANS:
C
PTS:
1
REF:
3.3
NAT:
A.CED.2 | A.CED.4 | A.REI.1

TOP:
Standardized Test

KEY:
literal equation


16.
ANS:


a.
[image: image19.png]A1) =-28t+300 or df)=300-28





b.
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c.
The graph appears to show $75 remaining on the card at about month 8.

d.
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PTS:
1
REF:
2.2


NAT:
A.REI.3 | A.CED.1 | A.CED.2 | N.Q.1 | A.SSE.1.a | A.REI.10 | N.Q.3 | F.IF.2 | F.IF.6

TOP:
Post Test

17.
ANS:


a.
The figure rotates [image: image22.png]ape



 clockwise from the previous figure.

b.


[image: image23.png]



PTS:
1
REF:
4.1
NAT:
F.LE.1.b | F.LE.1.c | F.LE.2

TOP:
Mid Ch Test
KEY:
sequence | term of a sequence | infinite sequence | finite sequence

